GOVERNMENT OF WEST BENGAL
DIRECTORATE OF SCHOOL EDUCATION
NATIONAL TALENT SEARCH EXAMINATION, 2015

(StATE LEVEL)

(FOR STUDENTS STUDYING IN CLASS X)

Mental Ability Test
Class X Code  State Code  Year Code Centre Code Serial No.
Roll No. 2 213 | Bl
Full Marks : 50 oo ¢ ¢o

Time: 45 Minutes (10-30 AM to 11-15 AM)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 50 questions.
Each question carries 1(one) mark. You are to answeraall
the questions.

2. Before youproceed tomarkinthe OMR Answer-
Sheet. findout the correct answer from the four alternatives
(a), (b), (c) and (d) against each guestion in the Question
Booklet. Darken the circle with a Black Ball Point Pen,
to the corresponding correct answer for the item in the

OMR Answer-Sheet.
@ @ © ©

Example :
(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer. =

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are fo write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet.

7. The OMR Answer-Sheetshould be handed over
to the Invigilator before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination.
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MENTAL ABILITY TEST

(Questions 1—10)

DIRECTION: Read the questions carefully and
give the answer by filling the circle of the letter
denoting your selected answer on the O.M.R.
Answer-Sheet.

(e ¢ el SiETeR o, en Terafea Ty
Hfoe Tealt Fdion a2 @ ez, Teavingz e
7@ 231 T (o1 Ten friere 34 1]

F B ¢ E%E = % what is ‘;—ig equal to?

@ 5

(b) 3=

23
(c) ENl

23
@ 5

2. [If the annual decrease in the population of
a town by 5% and the present population be 68590,
what was the population three years ago?

(a) 80000
(b) 60000
(c) 86000
(d) 65000

3. If the number 82%091 is divisible by 11,
then the digit in the place of starmark (*) will be
(a) 6
(b) 7
(c) 8 .
d 9

4. The average of x numbers is 3x. If (x— 1) is
subtracted from each given number, what will be
the new average?

(@ 3(x-1)

(b) 2x+ 1

(€) 2x—1 »

(d) Data inadequate

[3]

-

5. A box contains 276 coins of 5 rupees, 2
rupees and | rupee. The value of each kind of coins
are in the ratio 2 : 3 : 5 respectively. The number of
2 rupees coin is

(a) 52
(b) 60
(c) 76
(d) 85

6. A sum of money becomes six times at the
simple interest rate of 5% per annum. At what rate
per cent will it become twelve fold? [The time
period is unaltered. ]

(a 10%
®) 12%
() 9%
d) 11%

7. For any real number x, the maximum
value of 4 — 6x — X’ is
(@ 13
() 11
(c) 9
(d) 17

8. The length of side of an equilateral
triangle is 12 cm. Find the ratio of the areas of the
circle circumscribing the triangle to the circle
inscribing the triangle.

(@ 2:1
(b) 5:4
() 4:1
(d) 3:2

9. Two right circular cylinders of equal
volume have their heights in the ratio of 4 : 9. Find
the ratio of their curved surface areas.

(a) 9:4
(B): 233
(c) 4:9
()32



10. A boy was asked to multiply a given
number by 18—7‘ Instead, he divided the given
number by wi%— and got the result 225 more than
what he should have got if he had multiplied the
number by % The given number was

(a) 8

(b) 17
(c) 64
(d) 136

(Questions 11—20)

DIRECTION: In each of questions 11 to 20
below, there is a number series with one term
missing shown by ‘?’. The term is given as one of
the alternatives among four numbers given below
it. Find the term and indicate your answer by
filling the circle of the corresponding letter of
alternatives in the O.M.R. Answer-Sheet.

(it s Twa 2l oot et Ot @l =i | 2B
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11. 4,16, 36,64, ?, 144
(a) 81
(b) 90
(c) 100
(d) 121

12.:2,5:10,17.26, %
(a) 37
(b) 27
(©) 32

(d) 42

9, 81,90, 810, 819, ?
(a) 7371
(b) 900
(c) 8100
(d) 1638

15, 150, 1800, ?, 15

(a) 180

(b) 160

(c) 140 ,
(d 120

13.

14.

[4]

15,

16.

17.

18.

19.

100, 121, 144, ?, 196, 225

(a) 149
) 179
() 189
(d 169

3,12,27,49,79,?
(a) 108
(b) 116
() 112
(d) 118

15, 2, 30, 20, 60, 40
(a) S0
(b) 70
(c) 10
(d) 80

11, 17,26, 38, ?
(a) 42
(b) 53
©) 47
d) 58

13, 41, 126, 7, 1151
(a) 382
(b) 582
(c) 882
(d) 1082

3, 15, 35,63, 7, 143
(a) 69
(b) 79
(c) 89
(d) 99



(Questions 21—30)

DIRECTION: In each of the questions 21 to 30,
there are four items, three of which are alike by
some means or other while one is out of the class.
Find out the odd item and indicate your answer by
filling the circle of the corresponding letter on the
O.M.R. Answer-Sheet.

(et 2 21 (3 30 2 20 A B 0 2 I,
v foqt @i W e 9 @3] 90!
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21. (a) Mars
(b) Mercury
(c) Jupiter
(d) Challenger

" (a) Letter
(b) Benign
(c) Beggar
(d) Hotter

22,

23. (a) Pensive
(b) Truthful
(c) Virtuous

(d) Sly

24. (a) Flourine
(b) Bromine
(c) Chromium

(d) Chlorine

(a) QSU
(b) AFK
(c) DIN
d) LQV

(a) 117
(b) 97
(c) 135
(d) 153

(a) Titan
(b) Eris
(¢) Urenus
(d) Hairrmea

(a) PONM
(b) TSRQ
(c) HGFE
(d) HGFL

25.

26.

27.

(5]

29. (a) Beauty
(b) Educated
(¢) Creator

(d) Qualify

(a) Lung
(b) Kidney
(¢) Liver
(d) Eyes

(Questions 31—40)

DIRECTION: In each question below there are
two words separated by ‘:’ in the upper row. Below
that there are some words on each side of the
symbol ‘;’. Find the relation between two upper
words and select one word from the right side of
‘* below which have the same relation as above.
Fill the circle of the letter denoting your selected
answer on the O.M.R. Answer-Sheet.
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31. Kite: Bird

?: Fish

(a) Boy

(b) Submarine

(¢) Crow

(d) Snake

32. Scissors : Cloth
Razor : ?
(a) Hand
(b) Eye
(c) Leg
(d) Hair

33. Water:Ice
Steam : ?
(a) Heat
(b) Water
(c) Boil

(d) Fire



37.

38.

39.

Brick : Building
Straw : ?

(a) Product
(b) Liquid

(c) Hut

(d) Drink

Octopus : Mollusca
Spider : ?

(a) Arthropoda
(b) Clean

(c) Porifera

(d) Genus

Plumber : Wrench
Student : ?

(a) School
(b) Study
(c) Pupil
(d) Pen

Pituitary : Brain
Thymus : ?
(a) Throat
(b) Chest
(c) Spinal Cord
(d) Larynx

Heart : Pericardium
Brain : ?

(a) Head

(b) Skull

(¢) Cranium

(d) Meninges

21637
343 : 7

(a) 50
(b) 40
() 30
(d 20

[6]

40. Eye: Myopia
Teeth : ?
(a) Cataract
(b) Trachoma
(c) Pyorrhoea
(d)" Egzemah

(Questions 41—50)

DIRECTION: In questions 41—50, numbers are
placed in figures on the basis of some rules. One
place in the figure is indicated by the interrogation
sign (7). Find out the correct alternative to
replace the question mark and indicate your
answer by filling the circle of the corresponding
letter of alternatives in the O.M.R. Answer-Sheet.
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" e e N T R R ST
8 | 26 | 48 | 82 | 7 | 170

(@) 121
(b) 120
(©) 119
@ 111

8 0. G
(21 (1) &
(a) 123 '
(b) 119

(c) 118
(d) 121



84 81 88 47. 1 4 ?
14 | 12 18| 9 7 |1 4 2 5
(a) 16 2 2 3
(b) 21 49 | 64 | 169
(c) 61
(d) 81 _ (@ 3
(b) 4
(c) 5
d) 6
286
(@) 72 142 7 48. § . 3 g
(b) 68
(c) 70 > e 7 14 ?
(d) 76 3 @ 14
(b) 15
(c) 16
9 (d) 18
3 = N ”
: 49. @ @ Q@ (D
(a) 4
®) 5 5 > 11
(o) 137" (2) ® @ 64
@ 15 P ]
7 7
Y (a) 27,150
(b) 64,160
(c) 27,160
(d) 64,150
12 8 1 750 21
Y Y e /\ /o\ /\
3 7 11 4 ) 10
b4 B ADOHE
9 4 6 5 12 2
% ; 0 A N
(a) 184 (a) 442
(b) 210 (b) 616
(c) 241 () 576
(d) 425 (d) 324

-

[7]



GOVERNMENT OF WEST BENGAL
DIRECTORATE OF SCHOOL EDUCATION

NATIONAL TALENT SEARCH EXAMINATION, 2015
(STATE LEVEL)
(FOR STUDENTS STUDYING IN CLASS X)
Scholastic Aptitude Test

SRS AT

Clags-¥ Code  State Code  Year Code Centre Code Serial No.
Roll No. 2 2|3 1|5
Full Marks : 90 oS 2 do

Time: 90 minutes (1-00 PM to 2-30 PM)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 90 guestions.
Each question carries 1(one) mark. You are to answer all
the questions.

2. Before youproceed to mark inthe OMR Answer-
Sheet, findout the correct answer from the four alternatives
(a), (b), (c) and (d) against each question in the Question
Booklet. Darken the circle with a Black Ball Point Pen,
to the corresponding correct answer for the item in the

OMR Answer-Sheet.
@ @ © @

Example :
(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start” instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet.

7. The OMR Answer-Sheet should be handed over
to the Invigilatot before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination.
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Mathematics

1. If f(x) = x®- 10x3- 10x*~- 10x3- 10x2~
10x + 10, the value of f(11) is
(a) 1
(b) 10
(c) 11
(d) 21

2. Ifa=23,b=27and ¢ = 50, the value of
a’+b*—c* + 3abc is
(a) 100
(b) 73
) 77
) 0

3. If(3p+4q):(3r+4s)=3p-4q): (3r—4s),
the value of ps : gris
(a) 3:4
(b 11
(c) 4:3
(d) 9:16

4. The identity Va\b = Vab is not true only
when
(@ a>0;b>0
(b) a<0;b<0
(c) a>0;b<0
(d) a<0;b>0

5. The solution of the inequation x* —4 < 0 is
(a) —0o<x<-2
(b) —2<x<2
(c) 2€x<e
@ x=+2

6. The number of solution of the equation
VxZ=x — 2 igs

(a) 0

(b) 1

(c) 2

d 4 '

[3]

o=

1. f(x)=x°-10x%-10x*- 10x*- 10x*>-10x
+ 10, f(11) @q 9
(@ 1
(b) 10
(©) 11
(d) 21

2. a=23,b=279Rc=50T",a’+b*-c*+
3abc @3 TH
(a) 100
(b) 73
() 77
(d) 0

3. IWM@Bp+4q): (3r+4s)=(3p-4q): (3r—4s)
T, ST ps : qr @9 W
(a) 3:4
(b) 1:1
(c)4:3
(d) 9:16

Vab =ab el ey 72 7, 9947
(@) a>0;b>0
(b) a<0;b<0
(c) a>0;b<0
(d a<0;b>0

x? — 4 < 0 S IFEafda T 2
(@) —o<x<-2

(b) -2<x<2

(c) 2€x<ee

d)xzx2

Vx2 = x — 2 5Re7eiB7 STHe= A2
(@ 0
(b) 1
(c) 2
@ 4



7. The simplified value of

(W12 =8) (V3 +2) i
5+24

(a) V62
(b) 2-V6
(c) 0
d 1

8. Ifxz%ﬁ,yz{(f,::\ﬁfg,then
(a) x<y
(b) y<z
(c) z<x
(d) x=y=2z

o

9. If =2, the value of prc+5ag i

—
2
"

(b)

Gl Bl mi—gp— I

—~ -~
a2 o
-

10. Ifx-y=3andx+y=09, the least value of
X’ is
(a) 6
(b) 3
(c) 2
(d) 1

11. The difference between the simple and
compound interest on Rs. 12,500 for 3 years at 4% is

(a) Rs. 60.50
(b) Rs. 60.80
(c) Rs. 60.00
(d) Rs. 60.20

-

12. A fruit businessman purchases one gross of
bananas at Rs. 12 per dozen and sells 8 dozen at -
Rs. 15 per dozen. If he want to have 30% overall
profit, the selling price per dozen of the remaining
bananas should,be

(a) Rs. 16

(b) Rs. 16.20

(c) Rs. 16.40

(d) Rs. 16.80 D) °

(41

i ,\1 (V12— V8) (V3 +12)

10.

11. 3= 4% 2z 12,500 517 3 99039 736 70 6
53 o 2w ==

12.

— UG B EHIGH ) B
5+V24
(a) \{Ehg
(b) 2-6
() 0
(d) 1

W x=+3,y=34,z=Y6=,°=
(@) x<y

(b) y<z

©) Z<X%

(d) x=y=z

X—y=39a X +y2 9% X 43 FHOH I

(a) 6
(b) 3
(c) 2
(d) 1

(a) 60.50 5/
(b) 60.80 5/
(c) 60.00 5
(d) 60.20 5

oo TE AR 12 5 ToH W @ (A
| (e @72 2T 15 Bl O wed 8 wew el e
e | T fof Gt ol 30% =i F909 B, OGS IR

(a) 16 BRI

(b) 16.20 5l

(c) 16.40

(d) 16.80 5 ()



13. The base of a prism is square and its height
is 10 cm. If the whole surface area is 192 sq. cm,
the volume of the prism is

(a) 160c.c.
(b) 165c.c.
(c) 170 c.c.
(d) 155c.c.

14. The volume of a sphere havingradius 2 cm
is equal to the volume of a right circular cone whose
lateral surface area is three times of the area of the
base. The altitude of the cone is

(a) 4cm
(b) 6cm
(¢) 8cm
(d) 10cm

15. The distance between the centres of two
circles of radii 3 cm and 8 cm respectively is 13
cm. If PQ is the direct common tangent of the
circles, then its length is

(a) 11 cm
(b) 12cm
(¢) 13cm
(d) 14 cm

16. ABCD is a cyclic quadrilateral and ‘O’
is the centre of the circle. If 2~ COD = 130° and

ZBAC =25°, the value of £ BOC and £ BCD are
respectively

(a) 40°, 90°
(b) 50°, 90°
(c) 65°, 50°
(d) 70°, 80°

17. If o+ =Tand2 (cos’0 —cos*f) = lnhe
measure of o, is [0<a<T]

_
]
—
E S

(b)

~
o]
—

tI wE A

(d)

[5]

13. <= fPeem ofi asferm ¥R Twel 10 G|
T fRfermiba TwasER (e 192 35 e 27, o faresite
e 2

(a) 160 c.c.
(b) 165 c.c.
(e) 170k,
(d) 155c.c.

14. <2 o e RFE 9ol coeces srmes @i
CRaPEd fSaad | *Fe Thel 2d

(a) 4 G
(b) 6 G
(c) 8 =¥
(d) 10 G

15. 3 cifi s 8 cifs ayrid RIAR 16 Jres vewmrs
79 13 @ | PQ, I99G@H U6 134 TFe =% 2,
PQ @3 i T

(a) 11 if¥
(b) 12 =i
(¢) 13 e
(d) 14 &t

16. ABCD &b 3&3 5998 4R ‘O’ Jea (3% |
3 £ COD = 130°93% £ BAC =25° 2%, %3 £ BOC
'8 £ BCD-9 S TP

_(a) 40°,90°
(b) 50°, 90°
(c) 65°,50°
(d) 70°, 80°

i

2

17. o +B =
T, R o-497 wifamns

@3 2 (cos* ot — cos’B) = 1

[0<a<T]

oo
&
E-

(b)
(©)
(d)

MIE wiE oA



18. In AABC, ZABC = 90° and BC =3 AB.
The value of Sin C is

@) 3

19. If2ycos®=xsin0and2xsecB—y cosecO=
3, the value of x? + 4y? is
(a) 2
(b) 1
© 0
d 4

20. If 0° <6 <90° and cos © — V2 sin 6 =
3 sin 0, the value of sin 8 + \2 cos O is

(a) \2 cos 0
(b) V3 cos®
(c) V2sin®
(d) V3 sin®

18. AABC-93 /£ ABC = 90° ¢zt BC =3 AB.
Sin C-93 ¥
@ 3
(b) 1
() %
@ V3

19. TM2ycos@=xsinOGR2xsecO—y cosecO=
3 77, O X2 + 4y? &9 e
(@) 2
) 1
© 0
(d 4

20. = 0° < 0 < 90° @R cos O — V2 sin O =
3 sin 0 =¥, ©7@ sin O + V2 cos 6-47 W
(a) V2 cos @
(b) V3 cos 0
(c) V2sin®
(d) V3 sin®

[6]



Physics

21. A body covers half the distance with a
speed of 20 m/s and the other half with 30 m/s. The
average speed of the body during the whole
journey is

(a) Zero

(b) 24 m/s

(c) 25 m/s

(d) None of the above

22. If a wire of resistance 1€ is stretched to
double its length, then resistance will be
@ ;Q
b) 2Q
© ;9
(d) 4Q

23. If a part of a convex lens is covered, its
focal length will

(a) remain unchanged.

(b) become twice.

(¢) become half.

(d) depend on the covered area.

24. Note the relationship between the first two
words and suggest the suitable word for the fourth
place. Loudness : Amplitude : : Quality :

(a) Frequency
(b) Wave length
(c) Intensity
(d) Wave form

25. How many times does the polarity of an
A.C. supply of frequency 50 Hz change in one
second?

(a) 50
(b) *100
(€) 25
(d) 200

[7]
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(@ 0

(b) 24 m/s

(c) 25m/s

(d) Boiam @D =

22. 1Q @8 a3t o Gw AW fGed 7=
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@ 3Q
® 2Q
© 70
d 4 Q

23, @ T @ G0 9 o e 99
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(a) TifFafSe 2R

(b) fRed =z

(c) wds =3 |
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(a) T=9iI%
(b) &= (7
(c) Srel
(d) == T

25. 50 Hz 3>iits3 @it A.C. O Gree! &fe
FECS AT e zae

(a) 50
(b) 100
(c) 25
(d) 200



il

26. In electromagnetic wave, the direction of
electric and magnetic field are

(a) parallel to each other.

(b) perpendicular to each other.
(c) at acute angle to each other.
(d) at obtuse angle to each other.

27. Vm'is the unit of
(a) Potential
(b) Electric field intensity
(¢) Electric current
(d) Electric potential energy

28. The minimum distance between an object
and its real image in a convex lens is

(a) 2.5 times its focal length.
(b) 2 times its focal length.
(¢) 4 times its focal length.
(d) equal to its focal length.

29. The ratio of velocity of sound in hydrogen
to the velocity of sound in oxygen is

(a) 4:1
(b) 16:1
) 21
(d) 8:1

30. Which of the following is electromagnetic
in nature?

(a) o-ray
(b) P-ray
(c) ty-ray
(d) Cathode ray

——

26, ©fee pIFN O OfTHG € FIFCFCET
I
(a) =FIEF ARG |
(b) TR =TI
(C) PRP AT TR TR TS |
(d) AT X FCIE SIS |

27. Vm''go=sf @ cSreniin of ==
(@) <
(b) ©fe (e aAfew
(c) ©fbe 2 @l
(d) e Ffenfe

28. Twd @R CF@ IW € BT AT T
T Y
(@) CRFIPISY VHCEA 2.5 ¢l |
(b) PP T=eES 2 @l |
(C) CFRPP V=09 4 el |
(d) CFRT HCE A |

29, R(ETE W W @0 € SfREs i
TR TR SATS

(a) 4:1
(b) 16:1
) 221
(d) 8:1

30. WA @R SR FEIT I 2
(a) oM
(b) B-=ra
(c) y=Rr
(d) e [




31. What will be the power consumed by a
25 Q) wire if it is put across a mains of 250 volts?

(a) 2.5kw
(b) 25 kw
(c) 25w
(d) 25w

32. Two bodies with kinetic energies in the
ratio 2 : 3 are moving with equal momentum. The
ratio of their masses

(a) 143
b 1:2
() 3:2
@ 2:3

31. 250 (SI7H7 WAE G 25 Q @UREE O
TS FIAT! AT I ?
(a) 2.5kw
(b) 25 kw
() 25w
(d) 25w

32. W S W vewiw qit Iwse sifenfes
GATS 2 : 3, SITE LA TS TS ?
(@ 1:3
) 1:2
() 3:2
d 2:3



Chemistry

33. Under the same conditions of temperature
and pressure, 1/ of oxygen gas was mixed with 1/ of
carbon dioxide gas. The mass ratio of the gases in the
mixture will be

{a) 1:1
(b) 8:11
(c) 11:8
(d) 16:44

34. Which of the following is not the unit of the
Universal Gas Constant?
(a) ergmol’k’
(b) Jmol'k!
(c) Pam?’mol’k’!
(d) Pam*mol k"

35. Electric current is passed through a
concentrated aqueous solution of sodium chloride by
means of a battery. After disconnecting the circuit the
solution thus obtained is divided into two equal parts
by volume. In one part phenolphthalein and in another
part methyl orange indicator was added. The colour
of the solutions will be respectively—

(a) Pink and Red.

(b) Colourless and Yellow.
(c) Pink and Yellow.

(d) Colourless and Red.

36. n, molecules ofa gas is kept in a container of
definite volume at a temperature of T° and at a
pressure P. What will be the pressure of the gas at that
temperature when n, molecules of gas is removed

from the container?
n, P

@) (n—n)
®) (n-—n)P-

b,

© T)

(o~ )P
@ S
37. The ascending order of 's—l(charge/mass)

value for electron (e), proton (p), neutron (n) and
alpha (o) particle is

(a) e p,n, o

(b) n,p, e, o

(c) n,o,p,e.

(d) n,p,0,e. '

T

33. o %aeel @ bitet 1/ ¥ srhT 8 1/ Fida-uiz-
SRS I G it FRieed 01 7o ©F e T&—
(@ I1:1
(b) 8:11
(c) 11:8
(d) 16:44

34, FnfeiRs @R e % 0T 93 7T 2
(a) ergmol'k!
(b) Jmol'k!
(¢) Pam?mol’k’
(d) Pam’mol’k’

35. i T eT @iz waweR Wy e it
CRITT R 271 31 277 | T o e &l w=eeist G 7ar-
ARSE T 20T T ¢ Fads wae
Rofi @io =31 281 | 939 757 3 3 T

(a) cotenish s & |
(b) 3T e T |
(c) cotrenfe) s zeyw |
(d) 3RS |

36. <=6 A8 werTa #itg T° ol n, RIS
mﬁﬂmpmorww@mmnﬂ\wmﬁm
o1 AT [T €2 Uz TR ba Biel I R °

an
(@) (m,—n,) -

(b) (n, -2n )P

(n,— n)
(©) n—Pz

2

(n,— n,)P
(d) “_nl_

1

37. ARG (@), @it (p), fACEA (n) @ STl (o)
w%(&—fﬁﬂamﬁﬂww@ﬁmﬂw—

(@) e, p,n, 0.
(b) n,p,e, 0

(c) n,0,p,e.
(d) n,p,0,e.
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38. AmongLiCl, RbCl, BeCl and MgCl, which
two are the highest fmd the lowest fonic compounds?

(a) LiCl&RbCl.

(b) RbCl& BeCl..
(¢) RbCl& MgCL,
(d) MgCl, & BeCl.

39. Which statement is correct regarding ethane,
ethene and ethyne?

(a) Ethyne is weakest acid and C—H bond
length is longest.

(b) Ethyne is strongest acid and C—H bond
length is shortest.

(c¢) Ethane is strongest acid and C—H bond
lengthis longest.

(d) Ethene is the strongest acid and C-H
bond length is shortest.

40. 10 gm H,and 64 gm O, were taken in a
sealed vessel and exploded. The amount of water
produced in the reaction was—

(a) 3 mole.
(b) 4 mole.
(¢) 1mole.
(d) 2mole.

41. 1 mole of a hydrocarbon ‘X’ undergoes
complete saturation with 1 mole of hydrogen in
presence of a heated catalyst. What would be the
formula of ‘X*?

(8 CH,.
(b) CH,
© CSHI 0
d CH,.. s
42. 'Which of'the following are isomers?
(a) Butane and Isobutene.
(b) Ethane and Ethene.
(¢c) Propane and Propyne.
(d) Butane and Isobutane.

43. 'Which of the following is a double salt?
(a) Blue Vitriol.
(b) Glauber’s Salt.
(c) PotashAlum.
(d) Potassium Ferrocyanide.

38. LiCl, RbCl, BeCl, @32 MgCl 47 St i
76 Toww @ ﬁﬂw vnﬁﬂ ET
(a) LiCl&RbCL
(b) RbCl & BeCl,.
(c) RbCl&MgCL,
(d) MgCl, & BeCl,.

ﬁzg39. 32w, 2R @ 3ARET oFeE Wowe @i e
?
(a) 2T yFeros o158 C-H 38 o) wife |
(b) 32fE Sigey w15 @ C—H 35+ (7 T7eW |
(c) Zaw Sgew oy € C—H 35w o7 Fefom |

(d) 2w Srgow F ¢ C—H I5+ 070 Z7oW |

40. 10gmH, e 64 gm O, &3 % °I@ "ew
Rewze oie = | [iEnites @ st o= R g, o
'Qﬁ..._.

(@) 3 Gne|
(b) 4 Gl
(c) 1@m|
(d) 2 @i

41. | 1 @< WEeE X’ -@ T T
FACS TEY SHHEA LTRSS | (e QRIGITE G |
X’ -GI AT

(a) CZHG

(b) CH,.
© CH,
(d CH,,.

42. e R SiRETEe
(a) TTEH= e wRERTRH |
(b) T e |
(c) Calitste @ (ettetza |
(d) THT e SRHRTHE |

43. 3 @ B3 e
(a) < folae |
(b) 23R4 |
(c) =D gt |
(d) =B @R |

[11]



44.

Biology

Which of the following products of light

dependent phase are used during light independent
phase of photosynthesis?

45.

(a) RuBP&ATP
(b) HO & O,

(c) NADPH, & ATP
(d) ATP&O,

In which portions of the following, the Glucose

concentration is highest?

46.

47.

48.

49.

() Glomerulus

(b) Proximal convoluted tubule
(c) Bowmans capsules

(d) Collecting tubule

The outermost layers of meninges is
(a) Myelinmembrane

(b) Arachnoid mater

(¢) Duramater

(d) Piamater

Transpiration will be faster when the day is
(a) hot, humid and windy

(b) hot, dry and windy

(¢) cold, humid and windy

(d) hothumid and still wind

Adenineisakind of .
(a) Purine base

(b) Pyrimidine base
(c) Protein

(d) Fat

Which one 1s the 1st National Park in India?
(a)~Kanha National Park

(b) Jim Corbett National Park

(c) Kaziranga National Park

(d) Satpura National Park .

RIS

44. ST ACHET E Ros wiF Teetfite @i
IR S Frers W Are 5 e

45.

46.

47.

48.

49.

[ 12]

(a) RuBP <3k ATP
(b) H,0 < O,

(c) NADPH, <% ATP
(d) ATP@=20,

AN IR ST PSS TG HABR I 7
(a) CAM=EEA

(b) F=5a3t s it

() ST H2He

(d) Frares e

ARTE-a3 A0 120E Ba0 28
(a) e =aad

(b) SHRREEE o

(c) wR=oR

(d) Prarsydm

PTG T 2 T4 it 2@
(a) ©F,INE YR IYAITE
(b) o9, u% g IYAITS
(c) *oe, ¥ O3 IYERITTE
(d) o, =Y R AP

ST 25 O 4@
(a) PR =r

(b) HRER =
(c) catfos

(d) =

ez @ SR 293 SoR i ?
(a) 2GS S

(b) T Tt wem Twe

(c) ifears S S

(d) el s T



50. Haemophilia disease is linked with

51.

(a) Sex chromosome
(b) Autosome

(c) Bacteria

(d) Virus

If the heart rate of a man is less than 60 per

minute then it is called as

52.

53.

54.

(a) Tachycardia
(b) Bradycardia
(c) Ischemia

(d) Bradykinin

The word ““Vaccine” was first coined by
(a) Koch

(b) Pasteur

(c) Jenner

(d) Kohler

1 gm of Haemoglobin can hold

(a) 1.34 mloxygen
(b) 13.4mloxygen
(c) 2.34mloxygen
(d) 1.5mloxygen

Preen gland is present in
(a) the body of pigeon
(b) the body of prawn
(¢) the body ofrohu fish-
(d) incactus plant

55. Grafting is not possible: in monocot plant
because they

(a) have parallel venation.

(b) have only one cotyledon.

(¢) lack cambium.

(d) hawe scattered vascular bundle.

50.

51.

iRl coifba st siEe
(a) T GEi TSy

(b) SHITSIN

(c) =Ll

(d) =@

I (I RS @i 219 2ffe FifG 60-97

P T4 SIR(E ©ftF o1 &

53,

54.

[13 ]

(@) Sifeif&a
(b) afE=ifEa
(c) ZTHR=hm
(@) Ff==F=

“eNPI = s R FE
(@) T

(b) =&

(c) &=

(d) ="

1 i Raneanfe are F40s #ii
(2) 1.34 ml=RwEs
(b) 13.4 ml=fTes
(¢) 2.34 ml=ifgew
(d) 1.5 ml=fTEs

B 2l (et T
(a) <R @R
(b) o3 ez
(c) 2R Tz
(d) IO T

GFAGH A T B (SrreFers T TE =1 Fie

(a) >mreaiE et 2t 3 |
(b) «=T 1 i A A |
(c) T SweifEfen o |
(d) Rfee wiferet aifes A= A |



56.
of the

57.
of

58.

59.

60.

61.

History
The Ajanta caves were built during the period

(a) Mauryas
(b) Guptas
(c) Kushanas
(d) Chalukyas

Hieun-Tsang came to India during the reign

(a) Harshavardhana

(b) Kanishka

(¢) Chandragupta Maurya
(d) Samudragupta

Who built the Red Fort?
(a) Sher Shah

(b) Aurangzeb

(c) Akbar

(d) Shahjahan

The first Governor General of India was
(a) Lord Clive

(b) Lord Wellesley

(¢) Lord William Bentinck

(d) Warren Hastings

The Subsidiary Alliance was introduced by
(a) Lord Wellesley

(b) Lord Dalhousie

(¢) Warren Hastings

(d) Lord Cornwallis

Who was called the ‘Frontier Gandhi’?
(a) Mahatma Gandhi

(b) Pattavi Sitaramaiya

(¢) Vallabhbhai Patel

(d) Khan Abdul Ghaffar Khan

[ 14 ]

56.

57.

59.

60.

61.

2oz

e w2l tof TrfeE
(a) Citrasm

(b) S T

(c) T I

(d) BRTFTT

REE 18 RS qriEEE
(a) TRE-97 oI

(b) IFE-gT SIAE

(c) v N7 T
(d) TROY-9T S

ATIE (3 0O TR ¢
(a) CoReE

(b) 83T

() ===R

(d) =EEEe

SRS 29T e E (EIEE B

(a) =6 FiR®

(b) 6 STETAR

(c) =16 TRFmw @R
(d) SAE @B

i =13 filge! S 2 S

(@) 16 ST
(b) =76 TR

(c) SR EPB
(d) =76 FeTifEm

A NfE e e 2T 2
(a) S AiifE

(b) TS Frommizal
(c) IS ANHe

(d) U SN SR A



62. Indians boycotted the Simon Commission
because the Simon Commission had come

(a) todivide India.

(b) to grant Purna Swaraj.

(c) to look for ways of increasing British
control over India.

(d) Not a single Indian member was
included.

63. The Iron Man of India was
(a) Jawaharlal Nehru
(b) Abul Kalam Azad
(¢) Vallabhbhai Patel
(d) Subhas Chandra Basu

64. Which day was observed as “Rashid Ali
Day”?
(a) 10 February, 1946
(b) 12 February, 1946
(c) 14 February, 1946

(d) 16 February, 1946

65. What is the name of the treaty signed
between defeated Turkey and the Allies at the end
of the First World War?

(a) Treaty of Versailles
(b) Treaty of St. Germain
(c) Treaty of Sevres

(d) Treaty of Trianon

62. SIFSITA AT e T Tz, Fiad Az

e

(a) SRl T

(b) SRS AT 2WiW T

(c) ofEre o= fAzEe 3% Fare ARw FE
(d) gzeme SR T e sifde =

63. SRS FINR I Afafoe e

(a) Erezdes (%=
(b) I Bl S
(c) IR AN

(d) TorpE ]

IR =i afim enfer frasr st «hfere zafeet ¢
(a) Seo =z, sp8v
(b) > @AM, da8v
(c) s8 2, s58Y
(d) sv @z, ss8y

65. 2 Rerad o9 «9ifere warEs 7o feeimre @

A IR oA AN R e

15 ]

(a) ©rfz-aawfE
(b) o wItlE A&
(9 & SERCERIE
(d) Gamw-93 A&



Geography

66. Rusting of rock is caused by the process of
() Carbonation
(b) Hydration
(¢) Oxidation
(d) Solution

67. Roches Montanees are the hillocks of rocks
that are formed by

(2) Glacial abrasion

(b) Glacial abrasion and Plucking
(¢) Glacial deposition

(d) None of'the above

68. Theconcentrationof Ozoneisfoundin__
above the earth’s surface.

(@) 0-7km
(b) 7-18 km
(¢) 18-50km
(d) 50-80km

69. Canaries current flows along the coast of
(a) Portugal
(b) Peru
(c) Japan
(d) India
70. In India the Tropic of Cancer touches how
many states?
(a) 6 states
(b) 7 states
(c) 8states
(d) 9 states

71. The location of Chilka lake which is the
largest salt water lake in India lies to the

(a) South of Mahanadi Delta
(b) North of Mahanadi Delta
{c) North of Godavari Delta
(d) Mouth of Subarnarekha Delta

geae
66. RETH T 4F — ffFHE T
(a) SEIREGH
(b) eI
(c) ==
(d) w=e

67. ¢ YOI =& foldg S wafFe awade|
Qe Ffeg PR

(a) Taim waed

(b) R o ¢ Berltn
(c) R e

(d) Tvitm @it

68. AT THOR STEW WG AT Ol
7|

@ 0-7Rf

®) 7-18 R
() 18-50 &%
(d) 50-80 Rfx

69. IR IS @ FTa Teigst I 2RNZS 77, 0
A
() Comgaet
(b) coiE
(c) et
(d) ==
70. TEHEE @ SRS W AW AT
FAR?
() 6%aey
(b) 7 ares
(c) 8Fawem
(d) 9% ey

71. B oRres TR F3NE 3, iod S8 ==
(a) R FACHHR A
(b) SR TR T
(€) ComEs q@ICea et
(d) Taefeel Rw Gz

[16]



72. Inwhich part of India the difference between
the day and night temperature is very low

(a) Rajasthan

(b) Arunachal Pradesh

(¢) Madhya Pradesh

(d) Andaman and Nicobar Island

73. The “Yellow Revolution’ in Indian Agnculture
is the turning point of

(a) Rice production

(b) Wheat production
(¢) Oilseedproduction
(d) Jute production

74. Crops grown during April, May and June are
known as

(a) Zayed crops
(b) Kharifcrops
(c) Rabicrops
(d) Springcrops

75. Itispolluting the environment very badly. So
its demand in developed countries is decreasing.
Environmentalists prefer to call it as ‘Sunset Industry’

(a) Automobile Industry
-(b) Jute Industry

(c) Petrochemical Industry
(d) Cotton textile Industry

[17]

72. SRCST @ EE e @ AT THOF TS
LI
(a) <rerge
(b) SREIEE T
() sy
(d) wwie 6 R Jlsiee

73. oS IR T RAET FE A Af7ada
Tl (5 A4S BICIR (LT |
(a) =
(b) =
(¢) toFa
(d) =%

74. @ TN *7 i, (1 93 G W 51T 2T, O

(a) wrifEm =g
(b) «FE=y
(c) R
(d) IE= =Ry

75. @b 47 ARSI 17 R | O TS (PSS
&3 SR e 9 T | AAfcaifRvsit @3 RiEfes ‘Sun-
set Industry’ It “Srefars fAe e 171 FEw

(a) GRS sl ey
(b) % Fm

(¢) CoIGr=eTEs Pim
(d) ol 2



Political Science

76. The Constitution of India was adopted on
(a) 9 December, 1946
(b) 14 August, 1947
(c) 26 November, 1949
(d) 26 January, 1950

77. The Chairman of the Drafting Committee
of the Constituent Assembly of India was

(a) B.R. Ambedkar

(b) Jawaharlal Nehru

(¢) Sardar Ballabhbhai Patel
(d) Dr. Rajendra Prasad

78. Who characterises the Indian Union as a
“Federation with centralizing tendency”?

(a) Dr.B. R. Ambedkar
(b) Granville Austin
(¢) K.C.Wheare

(d) Ivor Jennings

79. ‘Democracy is a government of the
people, for the people, by the people’ was said by
(a) George Washington
(b) Woodrow Wilson
(c) Abraham Lincon
(d) Roosevelt

80. Who discharges the responsibility of the
chairman of the Council of States?

(a) The President of India

(b) The Vice-President of India
(c) The Prime Minister of India
(d) None of the above

81. The Chief Justice of the Supreme Court is
appointed by the

(a) President

(b) Vice-President
(c) Prime Minister
(d) Attorney General

AR

76. SRS FRUE e T
(a) 9 forT93, 1946
(b) 14 =095, 1947
(c) 26+regs, 1949

(d) 26 eI, 1950

77. ©RTST sefTEama vvl Rt Tl faew
(a) R =3 ST
(b) weZFEIE (2
(c) *WE IESSIL 2Ha
(d) ©: AEHAR

78. (& SIAON STHTAE GF0 (FERIT 239! F=9{H
GG I SR FA@A?
(a) © R 92, SiEwes
(b) cafest wf3oa
(c) = @ =
(d) wiEea cE

79. “NSE T GANCE T, TR 7, AR
[ —sAo I
(a) oo eTPIGA
(b) Tyl TETR
(c) s fomsw
(d) FETTH

80. SIS AN AWHI AT (F AT B 2
(a) SR AP
(b) TS TAAYATS
(c) ©HTex syl
(d) Teitza @IE =

81. JfPRrtsa 2ue el Fans saw
(a) wgeife
(b) TS
(c) euear
(d) SulBR cemTas
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82. Which one of the following is not a Union
Tem\ory?

Ya) Atunachal Pradesh
(b) Lakshadweep

(c) Andaman

(d) Puducherry

83. When a bill presented at the table of Lok
Sabha who decides whether a bill is Money Bill or
not?

(a) The Prime Minister

(b) The President

(c) The Parliamentary Select Committee
(d) The Speaker of the Lok Sabha

84. “Republic” was written by
(a) Marx
(b) Gettel
(c¢) Plato
(d) Aristotle

85. What is the name of the Predecessor
organization of the UNO?

(a) WTO

(b) League of Nations
(c) NATO

(d) SAARC

82. fcate gl g @D @E=ite wwiw
e

(a) rFeiIne 2
(b) wAr=IE
(c) =S

(d) R

83. W @ @3 6 @EFTeR B 57 wiw
A% e B @ Wl Piaw s2e 303 &2

(a) gD

(b) sE+fe

(c) efitros Feeis Rl
(d) TR P

84. Rl a%f w1 FrafRE=
(a) W
(b) ¢s5TG
(c) cam
(d) =uifEeooe

85. wufere wifesem Al afovmioa am Jie
(a) T feiey ez
(b) wfeH™
(c) U
(d) =
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Economics

86. Creation of utility for exchange is called
(a) Consumption
(b) Investment
(¢) Production
(d) Savings

87. In which of the following situation total
demand for a necessary commodity will rise?
(a) Rise in price level
(b) Rise in population size
(c) Rise in production
(d) Rise in the rate of interest

88. Inflation indicates a situation of
(a) very high prices.
(b) continuous fall in prices.
(c) continuous rise in prices.
(d) very low prices.

89. An economy is said to be on the path of
growth when
(a) total production increases.
(b) per capita income increases.
(c) inequality in the distribution of income
falls.
(d) total population increases.

90. Which organization in india is called the
“Lender of the last resort” for the commercial
banks?

(a) ICICI

(b) IDBI

(c) NABARD
(d) RBI

gfAife

86. RFwwR Srwre Tl R Aferwis <=1 =
=i

(a) csi4
(b) RfAcais
(c) Teotmw
(d) ==ex

87. FefiReomelcTug @Rbee @I dEEa
IR (NG ifRwl i =i 2
(a) FURRR I
(b) GG TPRAT I
(c) Tesimw IfE
(d) Tora o= 3

88. RS e ARIF
(a) 33 T A
(b) EOVCRA TSNS Z |
(c) FURER TS I |
(d) e o g |

89. 3% WS TN 272 BN IE M T2
o2 T4
(a) % Besiiw fa AT |
(b) =g == I i |
(c) I ITVLH (ITY T 2T |
(d) 1T TR Jfa =M1 |

90. oS @ v Alifers icra FAE
VAT AOMIS! I 2 ?
(a) ICICI
(b) IDBI
(c) NABARD
(d) RBI
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English

Q. 1-5. Read the passage and answer the questions
given after it:

The idea of evolution (which is gradual change) was
not anew one. The Greeks thought of it, so had Erasmus
Darwin, the grandfather of Charles Darwin, and also
the Frenchman, Lamarck. It is one thing to have an idea;
we can all guess and sometimes make lucky guess. It is
quite another thing to produce a proof of the correctness
of that idea. Darwin thought that he had that proof in
his notebooks. He saw that all animals had to struggle
to survive. Those which were best at surviving their
environment passed on the good qualities which helped
them to their descendents. This was called ‘the survival
of the fittest’. For example, in a cold climate, those who
have the warmest fur will live. Darwin believed that
this necessity for an animal to deal with its environment
explained the immense variety of creatures.

1. At the time that Darwin arrived on the scene,
the idea of evolution

(a) was an idea unheard of.

(b) had already been proved beyond doubt.
(c) had been thought of but not proved.

(d) was not thought fit for exploration.

2. According to Darwinian thought, the world of
animals is marked by
(a) peaceful coexistence.
(b) a struggle for survival.
(¢) indifference towards
(d) love and friendship.

each other.

3. The expression ‘the survival of the fittest’
means that

(a) the strong will survive while the weak will

perish.
(b) the strong and the weak will live peacefully.
(b) the strong will help the weak survive.
(c) both the strong and the weak will survive.

4. In colder climates
(a) all animals can survive.
(b) no animals can survive.
(¢) only animals with fur can survive.
(d) animals are hard to come by.

§. Darwin thought that the environment

(2) has no effect on animals.

(b) has a lot of effects on animals.

(c) has a marginal effect on animals.

(d) has an effect on man but not on animals.

Q. 6-10. Read the passage and answer the questions
given after it:

Most of us use the products of science — railways,
acroplanes, electricity, wireless and thousands of others
- without thinking how they came into existence. We
take them for granted, as if we were entitled to them as
a matter of right. We are very proud of the fact that we
live in an advanced age and are ourselves very advanced.
Now, there is no doubt that our age is very different
from previous ages and I think it is perfectly correct to
say that it is far more advanced. But it is a different
thing from saying that we, as individuals or groups, are
more advanced. It would be the height of absurdity to
say that because an engine driver can run an engine and
Plato or Socrates could not, the engine driver is more
advanced than, or is superior to, Plato or Socrates. But
it would be perfectly correct to say that the engine itself
is a more advanced method of locomotion than Plato’s
chariot was.

6. Which one of the following statements is true?

(a) An engine driver is cleverer than Plato or
Socrates.

(b) Plato and Socrates are in no way inferior
to the engine driver.

(c) Plato and Socrates surpassed the engine
driver in every respect.

(d) The engine driver cannot be compared to
Plato or Socrates.

7. In the passage the author mentions Plato and
Socrates to emphasize that

(a) they were men of great scholarship.

(b) people as individuals in the modern age
are not more advanced than their
predecessors.

(c) the engine is a better mode of locomotion
than Plato’s chariot.

(d) Plato and Socrates had greater respect for
learning.

S



8. According to the author the present age is far
more advanced than
(a) all the previous ages in some respects.
(b) the age of Plato and Socrates in some
respects.
(c) some of the previous ages in all respects.
(d) all the previous ages in all respects.

9. Many of us make use of machines
(a) with very little knowledge of their
mechanism.
(b) without any knowledge of their historical
significance.
(c) with full knowledge of their origin.
(d) without knowing how they were invented.

10. People today are very proud because they live
(a) in a philosophically advanced age.
(b) in a materially advanced age.
(c) in a scientifically advanced age.
(d) in a spiritually advanced age.

Q. 11-15. Read the passage and answer the questions
given after it:

In 1913 the English mathematician G. H. Hardy
received a strange letter from an unknown
clerk in Madras, India. The ten-page letter contained
about 120 statements of theorems on infinite series,
improper integrals, continued fractions, and number
theory. Something about the formulas made him take a
second look, and show it to his collaborator J. E.
Littlewood. After a few hours they concluded that the
results “must be true because, if they were not true,
no one would have had the imagination to invent them”.

Thus was Srinivasa Ramanujan (1887-1920)
introduced to the mathematical world. However, his
total immersion in mathematics was disastrous for
Ramanujan’s academic career: ignoring all his other
subjects, he repeatedly failed his college examinations.
He lived off the charity of friends, filling notebooks
with mathematical discoveries and seeking patrons to
support his work. Finally, he met with modest success
when the Indian mathematician Ramchandra Rao
provided him with first a modest subsidy, and later a
clerkship at the Madras Port Trust. Ramanujan had his
first paper published, a 17-page work on Bernoulli
numbers that appeared in 1911 in the Journal of the
Indian Mathematical Society.

11. Ramanujan’s first paper was published
(a) ten years before his death.
(b) nine years after his death.
(c) seventeen years after his death.
(d) nine years before his death. +

12. The mathematician who first helped Ramanujan
was
(a) J.E. Littlewood
(b) G. H. Hardy
(c) Ramchandra Rao
(d) P.C. Mahalanabish

13. 'Which of the following words is not a synonym
of “collaborator”?
(a) Co-worker
(b) Teammate
(c) Associate
(d) Rebel

14. Ramanujan failed in his college examinations
because
(a) he loved mathematics.
(b) he ignored all subjects but mathematics.
(c) he was a dropout.
(d) he did not like to study any subject.

15. Till Ramanujan started working as a clerk he
depended on
(a) asubsidy from R. Rao.
(b) salary from Madras Port Trust.
(c) help from G. H. Hardy.
(d) the charity from his friends and a subsidy.

Q 16-17. The following five sentences come from a
paragraph. The first and the last sentences are given.
Choose the order in which the three sentences (PQR)
should appear to complete the paragraph:

16. S1. If the heart stops we die in about five
minutes.

S5 All this was made possible by the invention
of heart-lung machine.

P - A few years ago it was impossible to
operate on a patient whose heart was not
working properly.

Q- They have even succeeded in heart
transplants.

R - Nowadays surgeons are able to stop a
patient’s heart and carry out complicated
operations.

Choose from the options given below:

(a) QPR

(b) RQP

(c) QRP

(d) PQR

[4]



17. Sl1. Chaplin, the great actor, was introduced to
the stage when he was five.

S ST e [ o UL E o et el

S5 When Chaplin was 17, he developed his
comic skills with the help of Fred Kamo’s
company.

P - Young Chaplin was watching a show
starring his mother when her voice cracked.

Q - He was a son of London music hall
enteriainers.

R - He was quickly shuffled onto the stage to
finish the act.

20. Farmers worry that the
food crops.

Q 20-29. Choose the word that best fills the blank
from the four options given:

will affect their

(a) famine
(b) drought
(c) heat
(d) sun

Choose from the options given below: ; The of gases remain almost constant
(a) QPR in the atmosphere.
Eb; Pl;gg (a) perception
e
(d) QRP (b) predominance

Q. 18-19. The following questions have the second
sentence missing. Choose the appropriate sentence
from the given options below:
18. P - The allied powers came out victorious in
the Second World War.

R - Britain became an ordinary power.
(a) But the British empire gained its post-war

(¢) production
(d) proportion

22. The sea-route through the port of Mumbai

trade and commerce.

pristine glory. (a) facilitates
pristine glory. :

(c) But the British empire lost its pre-war (c) associates
pristine glory. =

(d) But the British empire lost its post-war ) fehciatss
pristine glory.

19. P- Of thePSU aniilem Egranﬁid; inl Ebgypl::1 the 23. The of life made the miner

great Pyramid at Gizeh, built by King .
Cheops, holds most interest. Sncuolic.

8 e e e PN B o o O, (a) deformity

R - At the centre of the pyramid is the King’s B) delin
Chamber and leading down from there is a (&) eelagnency
long narrow area known as the Grand (¢) drudgery

Gallery.

(a) Situated directly below the King's
Chamber is the Queen’'s Chamber and
there are two air channels leading upwards.

(b) The richer and more important the person,

they would be buried.

(c) Egyptian artistic creations display the
wealth, splendour and talent of this great
civilization.

(d) It stands with two other pyramids on a
slight rise overlooking the River N.ile.

[5]

(d) delicacy

24. A person coming to a new country for
the stronger and safer the tomb in which permanent settlement is an

(a) immigrant
(b) emigrant
(c) imminent

(d) eminent



25. Some people
election.

(a) defied
(b) abstained
(c) refused
(d) declined

from voting at the last

26. The old freedom fighter became emotional
the days of struggle for freedom.

(a) visualising
(b) musing

(¢) fathoming

(d) reminiscing

27. Many engineering industries have been
developed with the technical of reputed foreign
companies.

(a) organisation
(b) collaboration
(c) fabrication
(d) hypothecation

28. The word ‘unambiguously’can best be replaced
by

(a) vaguely
(b) dubiously
(c) explicitly

(d) amiably
29. Only those who are ——— take advertisements
seriously.

(a) enthusiastic

(b) unrealistic -
(c) obstinate

(d) gullible

Q. 30-35. Select the meaning of the given phrases/
idioms:
30. man of letters
(3) a person who writes letters
(b) a person who receives letters
(¢) an illiterate person
(d) alearned person

31. all Greek
(a) totally classical
(b) totally unintelligible
(c) totally impressive
(d) totally original

32. alive wire
(a) aperson who is full of energy
(b) an eminent person
(c) an unruly person
(d) a critical person

33. writing on the wall
(a) graffiti
(b) an event indicating impending danger
(c) announcement of an event
(d) apolitical slogan

34. afool’s paradise
(a) paradise of idiots
(b) a state of illusory happiness
(c) to live in the past
(d) to have happy dreams

35. nip in the bud
(a) destroy in the beginning
(b) extremely good start
(c) striving from the beginning
(d) nurture the bud to grow into flower

Q 36-40. In the following passage there are some
numbered blanks. Fill in the blanks by selecting the
most appropriate word from the given options:

With a culture that has for centuries
....36......... deep respect to its natural environment,
...... 37.........itas the....... 38 ....... of the gods, it comes
as no surprise that the government of Bhutan has
weened9........ 2 controlled tourism policy. The only means
2} 0k Ty § to this gorgeous but land-locked
mountain kingdom by road is through the tiny border
town of Phuntsholing near the Doars region of West
Bengal.

36. (a) accorded
(b) subjected
(c¢) anticipated
(d) abided

[ 6]



37.

38.

(a) generating
(b) guiding

(c) venerating
(d) accepting

(a) asylum
(b) abode
(c) alter

(d) assure

[7]

39.

(a) allowed
(b) assigned
(c) administered
(d) adopted

(a) access
(b) attack
(c) adjust
(d) control
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